
Akerlof: market for second-hand cars 

 
Quality A B C D E F  

Number 
of cars 

10 20 10 40 30 10 Total: 
120 

fraction 10 1
120 12Ap    2

12Bp   1
12Cp   4

12Dp   3
12Ep   1

12Fp    

Buyer’s 
value 

$6,000 $5,000 $4,000 $3,000 $2,000 $1,000  

Seller’s 
value 

$5,400 $4,500 $3,600 $2,700 $1,800 $900  

 

PID D E F

M 6100 5,90
4,000 31000 2100

11,9 M 3,2502

3000 2000 1,000

3
ELL 2s Ia

1 8,2000 11000 E H 1,750
PC 1,750

1000

900C P 1,000 there is a market but
only for lowest quality F



Addendum to Akerlof 

1 2 1
6 3 6

Quality
probability

seller's value 900 1,200 1, 400
buyer's value 1,020 1,320 1,500

L M H

 

For every price p determine if there is a second-hand market. 
 

no cars supplyof L2MG full supply
marnet

i i Ei1,400
marker

berauseFor Lou M 1
1,020 1320 1500

11020 M 1,260 ELL 1,300



MONOPOLY and BUNDLING 
A. ONE TYPE of customer  
All consumers are identical with the same inverse demand 
function  ( )P P Q .  Monopolist’s cost function:  C = cQ    with 
0 < c < P(0). 

Naïve theory: ( ) ( ) ( )Q R Q cQ QP Q cQ       

 

 

Bundling. 
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B. TWO TYPES of customers 

PL = a   Q

PH = A  Q
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Monopolist’s cost function:  C = cQ    with 0 < c < PL(0). 
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BUNDLING continued 

OPTION 1.  Offer only one type of package (Q,V) which will be 
bought only by type H, because V > WL(Q) but V  WH(Q). 

 

 

It can be seen as included in Option 3: 

 

 

 

 

Sufficient condition for Option 3 (two contracts) to be better than  
Option 1 

 

  

gy fraction of
hype

May 1 9 N V CQ WH Q

Mgx IT G N WH Q1 CQ

II a a
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OPTION 2: Offer only one package (Q,V) which will be bought by 
both types, because V  WL(Q) (which implies that V  WH(Q) since 
WL(Q) WH(Q) ). 

 

Option 2 is always inferior to Option 3: 

Max IT N V CQ
s t ICQ
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OPTION 3

Offer VA Qal and K QL

v1
ua

3 9hNEVA cQaJ 1 ga NCK cQ

IR V W Q2

IC W 192 K We Qa Va

ii iiiii.it iETi
follows from IR and ICH

IR WL Q1 V 20 Q Wala WIQ

H
WHQL U 0 i e RHS of ICH 30

So WH QA VH 0

VH WHIQ I



v1
ua

3 9HNEVA cQaJ 1 g NCK cQ

IR V We Q2 independent of V4

IC W Q2 VL We Qa Vn reinforced

by VH

ICH WH Qa VH WH 19L
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equality
v
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IC W IQ W Qa WH Qa

WH QL K

HHy wih W

will be satisfied if

QLLQHN.EE
n

QL H
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Strategy solve max problem

without ICL constraint

if the solution is such that

QHSQ then ignoring 1C wa

on


